



## The Generalized of Selberg's Inequalities in $C^*$ -Module

Samir Kabbaj<sup>a</sup>, Abdellatif Chahbi<sup>a\*</sup>, Ahmed Charifi<sup>a</sup>, Nouridine Bounader<sup>a</sup>

<sup>a</sup>Department of Mathematics - Faculty of Sciences - Ibn Tofail University, Kenitra, Morocco.

**Abstract.** We obtain a Generalized of Selberg's type inequalities in Hilbert spaces and their extensions in operators algebras, in  $C^*$ -modules and in algebras of adjointable  $\mathbb{A}$ -linear maps. Some applications for improving the Bessel type inequality result are given.

### 1. Introduction

Let  $\mathbb{H}$  be a Hilbert space with inner product  $\langle \cdot, \cdot \rangle$ . The inequality of Selberg

$$\sum_{j=1}^n \frac{|\langle x, y_j \rangle|^2}{\sum_{k=1}^n |\langle y_j, y_k \rangle|} \leq \|x\|^2, \quad x, y_1, \dots, y_n \in \mathbb{H}, y_j \neq 0, 0 \leq j \leq n, \quad (1)$$

is originating from analytic theory of numbers [18]. It was discovered by A. Selberg around 1949, on account of the arguments of the distribution of primes [1,4,12,13,18,19]. Since that time it has interested many mathematicians who gave it many proofs, many extensions and refinements, see [1,5,10,11,13,17]. It is useful to recall that Schwartz's inequality

$$|\langle x, y \rangle| \leq \|x\| \|y\|, \quad x, y \in \mathbb{H} \quad (2)$$

and Bessel's inequality

$$\sum_{j=1}^n |\langle x, y_j \rangle|^2 \leq \|x\|^2, \quad x \in \mathbb{H}, y_1, \dots, y_n \text{ are nonzero and orthogonal in } \mathbb{H}, \quad (3)$$

are special cases of Selberg's inequality. Let me cite also, on the occasion, following inequalities encountered to this subject in the literature. Thus, in chronological order of publication, we have.

---

2010 *Mathematics Subject Classification.* Primary 46L08 ; Secondary 41A17, 46L05, 47L30.

*Keywords.* Selberg's inequality, Hilbert space, operators algebra,  $C^*$ -module, algebra of adjointable  $\mathbb{A}$ -linear maps.

Received: 18 July 2013; Accepted: 09 December 2013

Communicated by Dragan S. Djordjević

*Email addresses:* [samkabbaj@yahoo.fr](mailto:samkabbaj@yahoo.fr) (Samir Kabbaj), [ab-1980@live.fr](mailto:ab-1980@live.fr) (Abdellatif Chahbi\*), [charifi2000@yahoo.fr](mailto:charifi2000@yahoo.fr) (Ahmed Charifi), [n.bounader@live.fr](mailto:n.bounader@live.fr) (Nouridine Bounader)

In 1958 Heilbronn's inequality [13],

$$\sum_{i=1}^n |\langle x, y_i \rangle| \leq \|x\| \left( \sum_{i,j=1}^n |\langle y_i, y_j \rangle| \right)^{\frac{1}{2}}, \quad x, y_1, \dots, y_n \in \mathbb{H}.$$

In 1971, Bombieri's inequality [1],

$$\sum_{i=1}^n |\langle x, y_i \rangle|^2 \leq \|x\|^2 \max_{1 \leq i \leq n} \left\{ \sum_{j=1}^n |\langle y_i, y_j \rangle| \right\}, \quad x, y_1, \dots, y_n \in \mathbb{H},$$

In 1992 J.E. Pečarić's inequality [17],

$$\left| \sum_{i=1}^n c_i \langle x, y_i \rangle \right|^2 \leq \|x\|^2 \sum_{i=1}^n |c_i|^2 \max_{1 \leq i \leq n} \left\{ \sum_{j=1}^n |\langle y_i, y_j \rangle| \right\}, \quad x, y_1, \dots, y_n \in \mathbb{H}.$$

Moreover, in 1998, M. Fujii and R. Nakamoto [11] obtained in a Hilbert space, the following refinement for previous inequalities,

$$|\langle y, x \rangle|^2 + \sum_{j=1}^n \frac{|\langle x, y_j \rangle|^2}{\sum_{k=1}^n |\langle y_j, y_k \rangle|} \|y\|^2 \leq \|x\|^2 \|y\|^2, \quad x, y, y_1, \dots, y_n \in \mathbb{H}, \quad (4)$$

with the condition that  $\langle y, y_i \rangle = 0$ .

The goal of this paper is to show a generalized of selberg's inequality in Hilbert spaces and their extensions in algebras of operators, in Hilbert  $C^*$ -modules and in algebras of adjointable  $\mathbb{A}$ -linear maps.

## 2. Preliminaries in Hilbert $C^*$ -Modules

In this section we briefly recall the definitions and examples of Hilbert  $C^*$ -modules. For information about Hilbert  $C^*$ -module, we refer to ([8,9,16]). Our reference for  $C^*$ -algebras is ([3]). Let  $\mathbb{A}$  be a  $C^*$ -algebra (not necessarily unitary) and  $\mathbb{X}$  be a complex linear space.

**Definition 2.1.** A pre-Hilbert  $\mathbb{A}$ -module is a right  $\mathbb{A}$ -module  $\mathbb{X}$  equipped with a sesquilinear map  $\langle \cdot, \cdot \rangle : \mathbb{X} \times \mathbb{X} \rightarrow \mathbb{A}$  satisfying

1.  $\langle x, x \rangle \geq 0$ ;  $\langle x, x \rangle = 0$  if and only if  $x = 0$  for all  $x$  in  $\mathbb{X}$ ,
2.  $\langle x, \alpha y + \beta z \rangle = \alpha \langle x, y \rangle + \beta \langle x, z \rangle$  for all  $x, y, z$  in  $\mathbb{X}$ ,  $\alpha, \beta$  in  $\mathbb{C}$ ,
3.  $\langle x, y \rangle = \langle y, x \rangle^*$  for all  $x, y$  in  $\mathbb{X}$ ,
4.  $\langle x, ya \rangle = \langle x, y \rangle a$  for all  $x, y$  in  $\mathbb{X}$ ,  $a$  in  $\mathbb{A}$ .

The map  $\langle \cdot, \cdot \rangle$  is called an  $\mathbb{A}$ -valued inner product of  $\mathbb{X}$ , and for  $x \in \mathbb{X}$ , we define  $\|x\| = \|\langle x, x \rangle\|^{\frac{1}{2}}$  which is a norm on  $\mathbb{X}$ , where the latter norm denotes that in the  $C^*$ -algebra  $\mathbb{A}$ . This norm makes  $\mathbb{X}$  into a right normed module over  $\mathbb{A}$ . A pre-Hilbert module  $\mathbb{X}$  is called a Hilbert  $\mathbb{A}$ -module if it is complete with respect to its

norm. Two typical examples of Hilbert  $C^*$ -modules are as follows:

(I) Every Hilbert space is a Hilbert  $C^*$ -module.

(II) Every  $C^*$  algebra  $\mathbb{A}$  is a Hilbert  $\mathbb{A}$ -module via  $\langle a, b \rangle = a^*b$  ( $a, b \in \mathbb{A}$ ).

Notice that the inner product structure of a  $C^*$ -algebra is essentially more complicated than complex numbers.

One may define an  $\mathbb{A}$ -valued norm  $|\cdot|$  by  $|x| = \langle x, x \rangle^{\frac{1}{2}}$ . Clearly,  $\|x\| = \||x|\|$  for each  $x \in \mathbb{X}$ . It is known that  $|\cdot|$  does not satisfy the triangle inequality in general.

We recall also the definition and the following result, they will be used in the later.

**Definition 2.2.** An adjointable module map  $t : E \rightarrow F$  has a polar decomposition if there is a partial isometry  $u : E \rightarrow F$  such that  $T = u|t|$ ,  $t = u|t|$  and  $\text{Ker}(u) = \text{Ker}(t)$ ,  $\text{Ran}(u) = \overline{\text{Ran}(t)}$ ,  $\text{ker}(u^* = \text{ker}(t^*))$  and  $\text{Ran}(u^*) = \text{Ran}(|t|)$ .

In general bounded adjointable  $\mathbb{A}$ -module maps between Hilbert  $\mathbb{A}$ -modules do not have polar composition, but M. Joita [14] has given a necessary and sufficient condition for bounded adjointable module maps to admit polar decomposition.

**Theorem 2.3.** A bounded adjointable operator  $t$  has polar decomposition if and only if  $\text{Ran}(t)$  and  $\text{Ran}(|t|)$  are orthogonal direct summands.

The following lemma is useful to prove this Selberg's inequality.

**Lemma 2.4.** (see [6]) Let  $\mathbb{A}$  be a  $C^*$ -algebra  $a, b, c \in \mathbb{A}$ . Then

$$a^*cb + b^*c^*a \leq \|c\|(|a|^2 + |b|^2). \quad (5)$$

### 3. Generalized of the Selberg's Inequality for Hilbert Space

We start our work by presenting a the generalized of the Selberg's inequality for Hilbert space.

**Theorem 3.1.** Let  $\mathbb{H}$  be an Hilbert space and  $y_{ij}$  be a non zero vectors in  $\mathbb{H}$ , such that  $y_{ij}$  is orthogonal to  $y_{kj}$  for all  $i \neq k$  in  $\{1, \dots, m\}$  and  $j \in \{1, \dots, n_i\}$ . If  $x \in \mathbb{H}$  then

$$\sum_{i=1}^m \sum_{j=1}^{n_i} \frac{|\langle y_{ij}, x \rangle|^2}{\sum_{k=1}^{n_i} |\langle y_{ij}, y_{ik} \rangle|} \leq \|x\|^2. \quad (6)$$

*Proof.* Let  $\alpha_{ij}, 1 \leq i \leq m, 1 \leq j \leq n_i$  be scalars elements in  $\mathbb{C}$ . We can write

$$0 \leq \left\| x - \sum_{i=1}^m \sum_{j=1}^{n_i} \alpha_{ij} y_{ij} \right\|^2$$

and

$$\begin{aligned} & \left\| x - \sum_{i=1}^m \sum_{j=1}^{n_i} \alpha_{ij} y_{ij} \right\|^2 \\ &= \left\langle x - \sum_{i=1}^m \sum_{j=1}^{n_i} \alpha_{ij} y_{ij}, x - \sum_{i=1}^m \sum_{j=1}^{n_i} \alpha_{ij} y_{ij} \right\rangle \\ &= \langle x, x \rangle - \left\langle x, \sum_{i=1}^m \sum_{j=1}^{n_i} \alpha_{ij} y_{ij} \right\rangle - \left\langle \sum_{i=1}^m \sum_{j=1}^{n_i} \alpha_{ij} y_{ij}, x \right\rangle + \left\langle \sum_{i=1}^m \sum_{j=1}^{n_i} \alpha_{ij} y_{ij}, \sum_{i=1}^m \sum_{j=1}^{n_i} \alpha_{ij} y_{ij} \right\rangle \\ &= \|x\|^2 - \sum_{i=1}^m \sum_{j=1}^{n_i} \alpha_{ij} \langle x, y_{ij} \rangle - \sum_{i=1}^m \sum_{j=1}^{n_i} \overline{\alpha_{ij}} \langle y_{ij}, x \rangle + \sum_{i=1}^m \sum_{j,l=1}^{n_i} \overline{\alpha_{ij}} \alpha_{il} \langle y_{ij}, y_{il} \rangle \end{aligned}$$

We choose

$$\alpha_{ij} = \frac{\langle y_{ij}, x \rangle}{\sum_{k=1}^{n_i} |\langle y_{ij}, y_{ik} \rangle|},$$

then we get

$$\begin{aligned} \left\| x - \sum_{i=1}^m \sum_{j=1}^{n_i} \alpha_{ij} y_{ij} \right\|^2 &= \|x\|^2 - 2 \sum_{i=1}^m \sum_{j=1}^{n_i} \frac{|\langle x, y_{ij} \rangle|^2}{\sum_{k=1}^{n_i} |\langle y_{ij}, y_{ik} \rangle|} + \sum_{i=1}^m \sum_{j=1}^{n_i} \frac{|\langle x, y_{ij} \rangle|^2}{\sum_{k=1}^{n_i} |\langle y_{ij}, y_{ik} \rangle|} \\ &= \|x\|^2 - \sum_{i=1}^m \sum_{j=1}^{n_i} \frac{|\langle x, y_{ij} \rangle|^2}{\sum_{k=1}^{n_i} |\langle y_{ij}, y_{ik} \rangle|}. \end{aligned}$$

Then

$$\|x\|^2 - \sum_{i=1}^m \sum_{j=1}^{n_i} \frac{|\langle x, y_{ij} \rangle|^2}{\sum_{k=1}^{n_i} |\langle y_{ij}, y_{ik} \rangle|} \geq 0, \tag{7}$$

which ends the proof.  $\square$

The following Selbergs inequality in [10] can be obtained by taking  $m = 1$  in Theorem 3.1.

**Theorem 3.2 (See [10]).** Let  $\mathbb{H}$  be a Hilbert space and  $y_1 \dots y_n$  non zero vectors in  $\mathbb{H}$ . If  $x \in \mathbb{H}$ , then

$$\sum_{j=1}^n \frac{|\langle x, y_j \rangle|^2}{\sum_{k=1}^n |\langle y_j, y_k \rangle|} \leq |x|^2. \tag{8}$$

The following refinement of Selbergs inequality in [11] can be obtained by taking  $m = 2$  and  $n_2 = 1$  in Theorem 3.1.

**Theorem 3.3 (See [11]).** Let  $\mathbb{H}$  be a Hilbert space,  $y$  and  $y_1 \dots y_n$  non zero vectors in  $\mathbb{H}$  such that  $\langle y, y_j \rangle = 0$  for  $j = 1 \dots n$ . If  $x \in \mathbb{H}$  then

$$|\langle y, x \rangle|^2 + \sum_{j=1}^n \frac{|\langle x, y_j \rangle|^2}{\sum_{k=1}^n |\langle y_j, y_k \rangle|} \|y\|^2 \leq |x|^2 \|y\|^2. \tag{9}$$

The following theorems give the generalized Selberg’s inequality in an algebra of operators in Hilbert space.

**Theorem 3.4.** Let  $\mathbb{H}$  be a Hilbert space and  $T = U|T|$  be the polar decomposition of an operator  $T$  on  $\mathbb{H}$ ,  $\{y_{ij}; i = 1, 2, \dots, m$  and  $j = 1 \dots n_i\} \not\subset \ker(T^*)$  and  $\alpha \in [0, 1]$ .

If  $(|T|^{1-\alpha}U^*y_{ij}, |T|^{1-\alpha}U^*y_{kj}) = 0$  for all  $j$  and  $k \neq i$ , then

$$\sum_{i=1}^m \sum_{j=1}^{n_i} \frac{|\langle Tx, y_{ij} \rangle|^2}{\sum_{k=1}^{n_i} |\langle |T^*|^{2(1-\alpha)}y_{ik}, y_{ij} \rangle|} \leq \| |T|^\alpha x \|^2 \tag{10}$$

holds for all  $x \in \mathbb{H}$ .

*Proof.* We replace, in Theorem 3.1 respectively  $x$  and  $y_{ij}$  by  $|T|^\alpha x$  and  $|T|^{1-\alpha}U^*y_{ij}$ , for all  $i \in \{1, 2, \dots, m\}$  and  $j \in \{1 \dots n_i\}$ . Then we have the result.  $\square$

**Theorem 3.5.** Let  $\mathbb{H}$  be a Hilbert space and  $T = U|T|$  be the polar decomposition of an operator  $T$  on  $\mathbb{H}$ ,  $\{y_{ij}; i = 1, 2, \dots, m$  and  $j = 1 \dots n_i\} \not\subset \ker(T^*)$  and  $\alpha, \alpha_1, \dots, \alpha_m$ , such that  $\alpha + \alpha_i \geq 1$ , for all  $i = 1, \dots, m$ . If  $\langle |T|^{\alpha_i}U^*y_{ij}, |T|^{\alpha_k}U^*y_{kj} \rangle = 0$  for all  $j$  and  $k \neq i$ , then

$$\sum_{i=1}^m \sum_{j=1}^{n_i} \frac{|\langle T|T|^{\alpha_i+\alpha-1}x, y_{ij} \rangle|^2}{\sum_{k=1}^{n_i} |\langle |T^*|^{2\alpha_i}y_{ik}, y_{ij} \rangle|} \leq \| |T|^\alpha x \|^2 \tag{11}$$

holds for all  $x \in \mathbb{H}$ .

*Proof.* We replace  $x$  and  $y_{ij}$  by  $|T|^\alpha x$  and  $|T|^{\alpha_i}U^*y_{ij}$  in Theorem 3.1 respectively. Then we have the result.  $\square$

This two previous theorems are the generalized of the following result obtained in [11]:

**Theorem 3.6 (See [11]).** Let  $\mathbb{H}$  be a Hilbert space and  $T = U|T|$  be the polar decomposition of an operator  $T$  on  $\mathbb{H}$ ,  $\{y_j; j = 1, 2, \dots, n\} \not\subset \ker(T^*)$  and  $\alpha \in [0, 1]$ . If  $\langle U|T|^{1-\alpha}y, y_j \rangle = 0$  for all  $j$  and  $i \neq k$ , then

$$(|T|^\alpha x, y)^2 + \sum_{j=1}^n \frac{|\langle Tx, y_j \rangle|^2}{\sum_{k=1}^n |\langle |T^*|^{2(1-\alpha)}y_j, y_k \rangle|} \|y\|^2 \leq \| |T|^\alpha x \|^2 \|y\|^2$$

holds for all  $x \in \mathbb{H}$ .

**Theorem 3.7 (See [11]).** Let  $\mathbb{H}$  be a Hilbert space. Suppose that  $\{y_j; j = 1, 2, \dots, n\} \not\subset \ker(T^*)$  and  $\alpha, \beta \geq 0$  with  $\alpha + \beta \geq 1 \geq \alpha$ . If  $(|T^*|^{\beta+1-\alpha}y, y_j) = 0$  for all  $j$ , then

$$|\langle T|T|^{\alpha+\beta-1}x, y \rangle|^2 + \sum_{j=1}^n \frac{|\langle Tx, y_j \rangle|^2 \| |T^*|^\beta y \|^2}{\sum_{k=1}^n |\langle |T^*|^{2(1-\alpha)}y_j, y_k \rangle|} \leq \| |T|^\alpha x \|^2 \| |T^*|^\beta y \|^2$$

holds for all  $x \in \mathbb{H}$ . In particular, if  $\langle |T^*|^{2(1-\alpha)}y, y_j \rangle = 0$  for  $\alpha \in [0, 1]$ , then

$$|\langle Tx, y \rangle|^2 + \sum_{j=1}^n \frac{|\langle Tx, y_j \rangle|^2 \| |T^*|^{1-\alpha}y \|^2}{\sum_{k=1}^n |\langle |T^*|^{2(1-\alpha)}, y_j \rangle|} \leq \| |T|^\alpha x \|^2 \| |T^*|^{1-\alpha}y \|^2$$

holds for all  $x \in \mathbb{H}$ .

#### 4. Generalized of Selberg's Inequality in $C^*$ -Module

The following theorem gives an extension of generalized Selberg's inequality in a Hilbert  $\mathbb{A}$ -module.

**Theorem 4.1.** Let  $\mathbb{X}$  be a Hilbert  $\mathbb{A}$ -module and  $y_{ij}$  be a non zero vectors in  $\mathbb{X}$ , such that  $y_{ij}$  is orthogonal to  $y_{kj}$  for all  $i \neq k$  in  $\{1, \dots, m\}$  and  $j \in \{1, \dots, n_i\}$ . If  $x \in \mathbb{X}$  then

$$\sum_{i=1}^m \sum_{j=1}^{n_i} \frac{|\langle y_{ij}, x \rangle|^2}{\sum_{k=1}^{n_i} \|\langle y_{ij}, y_{ik} \rangle\|} \leq |x|^2. \quad (12)$$

*Proof.* For any  $\alpha_{ij} \in \mathbb{A}$ , we have

$$\begin{aligned} 0 &\leq \left| x - \sum_{i=1}^m \sum_{j=1}^{n_i} y_{ij} \alpha_{ij} \right|^2 = \left\langle x - \sum_{i=1}^m \sum_{j=1}^{n_i} y_{ij} \alpha_{ij}, x - \sum_{i=1}^m \sum_{j=1}^{n_i} y_{ij} \alpha_{ij} \right\rangle \\ &= \langle x, x \rangle - \left\langle \sum_{i=1}^m \sum_{j=1}^{n_i} y_{ij} \alpha_{ij}, x \right\rangle - \left\langle x, \sum_{i=1}^m \sum_{j=1}^{n_i} y_{ij} \alpha_{ij} \right\rangle + \left\langle \sum_{i=1}^m \sum_{j=1}^{n_i} y_{ij} \alpha_{ij}, \sum_{i=1}^m \sum_{j=1}^{n_i} y_{ij} \alpha_{ij} \right\rangle \\ &= |x|^2 - \sum_{i=1}^m \sum_{j=1}^{n_i} \alpha_{ij}^* \langle y_{ij}, x \rangle - \sum_{i=1}^m \sum_{j=1}^{n_i} \langle x, y_{ij} \rangle \alpha_{ij} + \sum_{i=1}^m \sum_{j,l=1}^{n_i} \alpha_{ij}^* \langle y_{ij}, y_{il} \rangle \alpha_{il} \\ &= |x|^2 - \sum_{i=1}^m \sum_{j=1}^{n_i} \alpha_{ij}^* \langle y_{ij}, x \rangle - \sum_{i=1}^m \sum_{j=1}^{n_i} \langle x, y_{ij} \rangle \alpha_{ij} + \frac{1}{2} \sum_{i=1}^m \sum_{j,l=1}^{n_i} (\alpha_{ij}^* \langle y_{ij}, y_{il} \rangle + \alpha_{il}^* \langle y_{il}, y_{ij} \rangle) \alpha_{ij} \alpha_{il}. \end{aligned}$$

By Lemma (2.4) we get

$$\alpha_{ij}^* \langle y_{ij}, y_{il} \rangle \alpha_{il} + \alpha_{il}^* \langle y_{il}, y_{ij} \rangle \alpha_{ij} \leq |\alpha_{ij}|^2 \|\langle y_{ij}, y_{il} \rangle\| + |\alpha_{il}|^2 \|\langle y_{il}, y_{ij} \rangle\|$$

then

$$\begin{aligned} \left| x - \sum_{i=1}^m \sum_{j=1}^{n_i} y_{ij} \alpha_{ij} \right|^2 &\leq |x|^2 - \sum_{i=1}^m \sum_{j=1}^{n_i} \alpha_{ij}^* \langle y_{ij}, x \rangle \\ &\quad - \sum_{i=1}^m \sum_{j=1}^{n_i} \langle x, y_{ij} \rangle \alpha_{ij} + \frac{1}{2} \sum_{i=1}^m \sum_{j,l=1}^{n_i} |\alpha_{ij}|^2 \|\langle y_{ij}, y_{il} \rangle\| + |\alpha_{il}|^2 \|\langle y_{il}, y_{ij} \rangle\|. \end{aligned} \quad (13)$$

We choose

$$\alpha_{ij} = \frac{\langle y_{ij}, x \rangle}{\sum_{k=1}^{n_i} \|\langle y_{ij}, y_{ik} \rangle\|},$$

then we obtain

$$\begin{aligned}
 \left| x - \sum_{i=1}^m \sum_{j=1}^{n_i} y_{ij} \alpha_{ij} \right|^2 &\leq |x|^2 - \sum_{i=1}^m \sum_{j=1}^{n_i} \frac{|\langle y_{ij}, x \rangle|^2}{\sum_{k=1}^{n_i} \|\langle y_{ij}, y_{ik} \rangle\|} - \sum_{i=1}^m \sum_{j=1}^{n_i} \frac{|\langle y_{ij}, x \rangle|^2}{\sum_{k=1}^{n_i} \|\langle y_{ij}, y_{ik} \rangle\|} \\
 &+ \frac{1}{2} \sum_{i=1}^m \sum_{j,l=1}^{n_i} \frac{|\langle y_{ij}, x \rangle|^2 \|\langle y_{ij}, y_{il} \rangle\|}{(\sum_{k=1}^{n_i} \|\langle y_{ij}, y_{ik} \rangle\|)^2} + \frac{1}{2} \sum_{i=1}^m \sum_{j,l=1}^{n_i} \frac{|\langle y_{ij}, x \rangle|^2 \|\langle y_{ij}, y_{il} \rangle\|}{(\sum_{k=1}^{n_i} \|\langle y_{ij}, y_{ik} \rangle\|)^2} \\
 &= |x|^2 - 2 \sum_{i=1}^m \sum_{j=1}^{n_i} \frac{|\langle y_{ij}, x \rangle|^2}{\sum_{k=1}^{n_i} \|\langle y_{ij}, y_{ik} \rangle\|} + \sum_{i=1}^m \sum_{j=1}^{n_i} \frac{|\langle y_{ij}, x \rangle|^2}{\sum_{k=1}^{n_i} \|\langle y_{ij}, y_{ik} \rangle\|} \\
 &= |x|^2 - \sum_{i=1}^m \sum_{j=1}^{n_i} \frac{|\langle y_{ij}, x \rangle|^2}{\sum_{k=1}^{n_i} \|\langle y_{ij}, y_{ik} \rangle\|}.
 \end{aligned}$$

Then

$$|x|^2 - \sum_{i=1}^m \sum_{j=1}^{n_i} \frac{|\langle y_{ij}, x \rangle|^2}{\sum_{k=1}^{n_i} \|\langle y_{ij}, y_{ik} \rangle\|} \geq 0, \tag{14}$$

which completes the proof.  $\square$

The previous theorem is a generalized of the following Selberg’s and refinement of selberg’s inequalities :

**Theorem 4.2 (See [2]).** Let  $\mathbb{X}$  be a Hilbert  $\mathbb{A}$ -module,  $y_1 \dots y_n$  non zero vectors in  $\mathbb{X}$ . If  $x \in \mathbb{X}$  then

$$\sum_{j=1}^n \frac{|\langle x, y_j \rangle|^2}{\sum_{k=1}^n |\langle y_j, y_k \rangle|} \leq |x|^2. \tag{15}$$

**Theorem 4.3 (See [2]).** Let  $\mathbb{X}$  be a Hilbert  $\mathbb{A}$ -module,  $y$  and  $y_1 \dots y_n$  non zero vectors in  $\mathbb{X}$  such that  $\langle y, y_j \rangle = 0$  for  $j = 1 \dots n$ . If  $x \in \mathbb{X}$  then

$$|\langle y, x \rangle|^2 + \sum_{j=1}^n \frac{|\langle x, y_j \rangle|^2}{\sum_{k=1}^n |\langle y_j, y_k \rangle|} \|y\|^2 \leq |x|^2 \|y\|^2. \tag{16}$$

By Theorem 4.1 we can obtained a generalized of Bombieri’s inequality in  $C^*$ -module ,

**Theorem 4.4.** Let  $\mathbb{X}$  be a Hilbert  $\mathbb{A}$ -module and  $y_{ij}$  be a non zero vectors in  $\mathbb{X}$ , such that  $y_{ij}$  is orthogonal to  $y_{kj}$  for all  $i \neq k$  in  $\{1, \dots, m\}$  and  $j \in \{1, \dots, n_i\}$ . If  $x \in \mathbb{X}$  then

$$\sum_{i=1}^m \sum_{j=1}^{n_i} |\langle y_{ij}, x \rangle|^2 \leq |x|^2 \max_{1 \leq i \leq m, 1 \leq j \leq n_i} \sum_{k=1}^{n_i} \|\langle y_{ij}, y_{ik} \rangle\| \tag{17}$$

The following theorems extend previous results to algebra of operators in Hilbert  $C^*$ -module.

**Theorem 4.5.** Let  $\mathbb{X}$  be a Hilbert  $\mathbb{A}$ -module and  $t = u|t|$  be the polar decomposition of adjointable module map  $t$  on  $\mathbb{X}$ ,  $\{y_{ij}; i = 1, 2, \dots, m \text{ and } j = 1 \dots n_i\} \not\subseteq \ker(t^*)$  and  $\alpha \in [0, 1]$ .

If  $\langle |t|^{1-\alpha} u^* y_{ij}, |t|^{1-\alpha} u^* y_{kj} \rangle = 0$  for all  $j$  and  $k \neq i$ , then

$$\sum_{i=1}^m \sum_{j=1}^{n_i} \frac{|\langle y_{ij}, tx \rangle|^2}{\sum_{k=1}^{n_i} \|\langle |t^*|^{2(1-\alpha)} y_{ik}, y_{ij} \rangle\|} \leq \| |t|^\alpha x \|^2 \quad (18)$$

holds for all  $x \in \mathbb{X}$ .

*Proof.* We replace  $x$  and  $y_{ij}$  by  $|t|^\alpha x$  and  $|t|^{1-\alpha} u^* y_{ij}$  in Theorem 4.1 respectively. Then we have the result.  $\square$

**Theorem 4.6.** Let  $\mathbb{X}$  be a Hilbert  $\mathbb{A}$ -module and  $t = u|t|$  be the polar decomposition adjointable module map  $t$  on  $\mathbb{X}$ ,  $\{y_{ij}; i = 1, 2, \dots, m \text{ and } j = 1 \dots n_i\} \not\subseteq \ker(t^*)$  and  $\alpha, \alpha_1, \dots, \alpha_m$ , such that  $\alpha + \alpha_i \geq 1$ , for all  $i = 1, \dots, m$ . If  $\langle |t|^{\alpha_i} u^* y_{ij}, |t|^{\alpha_k} u^* y_{kj} \rangle = 0$  for all  $j$  and  $k \neq i$ , then

$$\sum_{i=1}^m \sum_{j=1}^{n_i} \frac{|\langle y_{ij}, t|t|^{\alpha_i+\alpha-1} x \rangle|^2}{\sum_{k=1}^{n_i} \|\langle |t^*|^{2\alpha_i} y_{ik}, y_{ij} \rangle\|} \leq \| |t|^\alpha x \|^2 \quad (19)$$

holds for all  $x \in \mathbb{X}$ .

*Proof.* We replace  $x$  and  $y_{ij}$  by  $|t|^\alpha x$  and  $|t|^{\alpha_i} u^* y_{ij}$  in Theorem 4.1 respectively. Then we have the result.  $\square$

## References

- [1] E. BOMBIERI, A note on the large sieve, Acta Arith., 18(1971), 401-404.
- [2] N. BOUNADER AND A. CHAHBI, Seleberg Type Inequalities in Hilbert C-Modules .Int. Journal of Math. Analysis, Vol. 7, 2013, no. 8, 385 - 391.
- [3] F. R. DAVIDSON: C\*-algebra by exemple. Fields Ins. Monog; 1996.
- [4] H.G. DIAMOND, Elementary methods in the study of the distribution of prime numbers, Bull. Amer. Math. Soc. vol. 7 number 3 (1982), 553-589.
- [5] S. S. DRAGOMIR : On the Boas-Belman in inner product spaces. arXiv:math/0307132v1 [math.CA] 9 Jul 2003 Aletheia University.
- [6] S. S. DRAGOMIR, M. KHOSRAVI AND M. S. MOSLEHIAN: Besel type inequality in Hilbert C\*-modules. arXiv:0905.4067v1 [math.FA] 25 May 2009.
- [7] P. ERDÖS, On a new method in elementary number theory which leads to an elementary proof of the prime number theorem, Proc. Nat. Acad. Scis. U.S.A. 35 (1949), 374?384.
- [8] M. FRANK: Self-duality and C\*-reflexivity of Hilbert C\*-modules. Zeitschr Anal. anw.9(1990), 165-176.
- [9] M. FRANK: Geometrical aspects of Hilbert C\*-modules. Positivity, 1998.
- [10] M. FUJII: Selberg inequality. "http://www.kurims.kyoto-u.ac.jp/~kyodo/kokyuroku/contents/pdf/0743-07.pdf", (1991), 70-76.
- [11] M. FUJII AND R. NAKAMOTO: Simultaneous Extensions of Selberg inequality and Heinz-Kato-Furuta inequality Nihonkai Math. J. Vol.9 (1998), 219-225.
- [12] J. HADAMARD, Sur la distribution des zéros de la fonction zeta et ses conséquences arithmétiques, Bull. Soc. Math. France 24 (1896), 199.220; reprinted in Oeuvres de Jacques Hadamard, C.N.R.S., Paris, 1968, vol 1, 189.210.
- [13] H. HEILBRONN, On the averages of some arithmetical functions of two variables, Mathematica, 5(1958), 1-7.
- [14] M. JOITA, Hilbert modules over locally C\*-algebras, University of Bucharest Press, 2006.
- [15] I. KAPLANSKY: Modules over operateur algebras. Amer. J. Math; (7591953), 839-858.
- [16] E. C. LANCE: Hilbert C\*-modules. LMS Lecture Note series 210, CUP, 1995.
- [17] J.E. PEČARIĆ, On some classical inequalities in unitary spaces, Mat. Bilten (Scopje), 16(1992), 63-72.
- [18] A. SELBERG, An elementary proof of the prime number theorem, Ann. of Math. (2) 50 (1949), 305?313; reprinted in Atle Selberg Collected Papers, Springer verlag, Berlin Heidelberg New York, 1989, vol 1, 379?387.
- [19] J.J. SYLVESTER, On Tchebychef theorem of the totality of prime numbers comprised within given limits, Amer. J. Math. 4 (1881), 230-247.